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SHEAR DIAGRAM CALCULATIONS
Fgy+FFy+Fhy+FEx=0
—2734.34#+3910.01#+1885.57#—-3061.24#=0 1885.574 3061.044
# o |
3910.01 i |
—— J
0 | 0

—2734.344 _31636.3

MOMENT CALCULATIONS
My1 5700=—2734.34#%11.5700"=—-31636.3"#

t

T 17574.374

Mp3.2500=—2734.34#*%23.2592"+(508.986#*3.28913")+3910.01#*11.6892"=—16219.6"#
Mp3. 2500+ =—2734.34#%23.2592"+(508.986#*3.28913")+3910.01#*11.6892"—(1074.94#*1.26030)=—17574.3"#

Mzg.0000=—2734.34#%29.0000"+(508.986#*3.28913")+3910.01#*17.4300"—(1074.94#*1.26030™)+ 1885.57#*5.74084"=—.255781"#

AS500 RECTANGULAR TUBING

TENSILE STRENGTH 58000PSI

YIELD STRENGTH 46000PSI

YIELD STRENGTH WITH SAFTEY FACTOR & 153335PSI

P=—575.103-508.986+1074.94+9.14992=1150.21#
M=—31636.3"#

>0
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1150214, —31636.3"#
2.06IN 2.15IN°?

S598PSI + 14715PSI = 15273PSI

A 4X2—1/2X3/16" RECTANGULAR
TUBE WILL BE NEEDED.



